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EFETHETRAOR
FRERERAOGIEAZEHZED) {I_'J\*D3£E6H 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 300 358 396 754
AER1TH 1,036 1,176 1,271 2,447
mAET2TH 1,205 1,054 1,402 2,456
A R T 2,290 2,345 2.566 4911
BERT1TH 552 557 602 1,159
B EET2T H 413 421 457 878
B ERI3TH 314 359 326 685
B ERTATH 529 481 525 1,006
B EBRTSTH 831 898 909 1,807
I ER6TH 366 397 423 820
HiF = HT 549 594 645 1,239
45 KHT 470 535 567 1,102
HHT 1,017 1,121 1,244 2,365
BEHT 52 54 57 111
A K BT 628 725 740 1,465
7 HT 432 444 454 898
RICET 464 499 531 1,030
FORHET 203 194 231 425
RFHT 211 212 242 454
KHET 365 340 381 721
KET1TH 240 247 291 538
XKET3TH 292 348 336 684
XETATH 891 833 1,025 1,858
fit] LLI BT 2,425 2,784 2,898 5,682
JE LT 975 1,102 1,218 2,320
EHERT2TH 304 440 430 870
EHERISTH 434 533 545 1,078
EHERT4TH 390 456 487 943
EHERSTH 337 395 464 859
EAEHET6TH 215 286 273 559
EHERT7TH 166 252 256 508
=Y:i 330 333 386 719
8 [F T 1,548 1,412 1,646 3,058
=i ET 512 549 632 1,181
2l 3t BT 481 590 562 1,152
N =15 99 113 121 234
+HEFRT A 647 655 720 1,375
L EFHTER 854 749 858 1,607
L HAET 1,971 2,176 2,258 4,434
LFH¥ABT1TH 74 122 120 242
LH¥\ET2TH 159 158 180 338




HEZ HH 5 £ i
LFEI3TH 152 149 178 327
L¥AET4 T B 166 183 209 392
LHABTS T B 215 269 292 561
I == HT 206 217 240 457
JOSFET1TH 568 539 556 1,095
JNsFET2T H 539 519 563 1,082
JO=fET3TH 415 435 413 848
M=rET4T H 1,108 1,114 1,131 2,245
I S5k T 588 604 659 1,263
I=F5di) 228 216 258 474
Jt B BT 30 38 38 76
E[d:) 406 351 342 693
fHZaE T 822 944 990 1,934
FHRHET 79 86 96 182
1 2 FF T 328 371 400 771
BEFE1TH 93 119 128 247
BEFE2TH 284 327 334 661
T EHT 131 141 142 283
/N BB T 3,090 3,126 3,309 6,435
1R T 264 296 313 609
YEZF HT 755 736 805 1,541
EXBI1TH 281 260 283 543
=/ LLIHT 218 160 127 287
Hh ek HT 25 25 5 30
T A EHET 11 16 12 28
THHEE1TH 733 680 727 1,407
THHEE2TH 528 569 558 1,127
THHEESTH 820 839 964 1,803
TEHE1TH 184 184 177 361
TEHRI2TH 805 758 872 1,630
TEHRISTH 164 170 183 353
TEHRI4ATH 92 98 109 207
TEHRISTH 219 234 246 480
T HAET 577 608 648 1,256
TET1TH 360 353 377 730
THET2 T H 459 434 484 918
TH#RBI3TH 203 199 229 428
THABTATH 152 151 185 336
TH¥BISTH 151 173 189 362
HTAEHET 23 21 8 29
T 192 201 195 396
#8)11 BT 45 46 53 99
KT HT 299 321 345 666
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HEZ HH 5 £ i

7B KHT 1,683 1,693 1,853 3,546
FSIED 270 319 318 637
XLAT1TH 848 778 921 1,699
X#ILET2TH 315 344 365 709
X#ILET3TH 152 158 166 324
1 [ BT 47 63 77 140
hHET1TH 369 394 411 805
hHET2TH 466 485 527 1,012
hHBEI3TH 442 518 516 1,034
aiEld:) 254 243 286 529
th 2 JEHT 220 211 237 448
ch T 126 126 162 288
TR AHT 773 881 879 1,760
At FAET 882 881 1,029 1,910
75 K ERET 783 974 1,007 1,981
75 2 [N HET 1,659 1,835 1,970 3,805
JAHT 800 777 873 1,650
$FHET1TH 524 463 518 981
$FHET2T H 392 387 438 825
¥FHETST B 200 206 229 435
T 165 215 220 435
HET1 T B 385 483 505 988
HET2 T B 348 365 399 764
HET3 T B 354 395 438 833
HET4 T B 121 116 144 260
AN ) 985 1,071 1,121 2,192
J\ EHHT 158 200 196 396
+ A ERT 246 284 318 602
T A HT 1,846 1,891 2,054 3,945
THB1TH 24 22 21 43
T4HB2TH 1,469 1,376 1,361 2,737
T4HBI3TH 186 165 169 334
T4RBI4TH 372 312 373 685
T4RB5TH 948 673 956 1,629
T4HBI6TH 608 589 645 1,234
THRI7TH 349 373 410 783
T4HBISTH 386 410 428 838
THRBOTH 402 463 510 973
+4RB13TH 312 355 394 749
AR NBHT 1,961 1,717 1,988 3,705
HARRHET 1,363 1,249 1,235 2,484
HARRK/ERET 291 371 386 757
F AR JEHT 167 174 180 354
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HEZ HH 5 = 5
- WNEL] 135 124 133 257
FH AR hHT 199 222 255 477
FHARAKHET 440 466 504 970
& ARl 325 349 381 730
HARE)IIHT 293 272 304 576
=N ] 110 119 132 251
FH AR JTHT 104 97 110 207
EARERHE 665 574 671 1,245
B K BRHET 386 394 405 799
Edsa] 895 899 1,019 1,918
BEFET1TH 768 734 760 1,494
BEFET2 T H 598 596 679 1,275
BEFETST B 354 419 424 843
AFTET1TH 422 376 425 801
AIFFRT2T B 601 611 672 1,283
AIFTET3T B 606 696 756 1,452
A HT 182 205 194 399
B LH 232 299 321 620
NER) 792 779 841 1,620
ERL 744 919 922 1,841
= HHT 1,727 1,921 2,015 3,936
HEXHRET1TH 593 643 678 1,321
HETIRET2TH 521 595 661 1,256
HLAREISTH 298 379 370 749
P fx T 317 365 396 761
mERI1TH 1,162 1,121 1,278 2,399
mERI2TH 827 946 1,056 2,002
FA T 1,349 1,399 1,578 2,977
= RITET 529 501 547 1,048
= AHT 347 279 338 617
AR#HT 8 6 4 10
=) 500 566 521 1,087
SHET1TH 717 634 800 1,434
S HET2TH 404 447 473 920
aHEI3TH 849 736 901 1,637
S HET4TH 760 639 836 1,475
E& T 1 1 0 1
J\BRET1TH 206 263 263 526
J\BRET2T B 214 227 225 452
J\BRET3T H 243 292 307 599
1T HT 296 431 416 847
FHeEIBRT1 T H 165 196 209 405
FHREIBRT2TH 302 434 463 897
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HEZ HH 5 £ i
FIEIBISTH 109 178 172 350
FEOER1TH 46 71 66 137
EOER2TH 0 0 0 0
FENOERITH 18 16 2 18

=N 88,589 92,018 99,763 | 191,781
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